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D) 240 = (DINT 12ID) DIN 121D DI 1
(92N 77132 17N) DX 17- 15 = (DINT 12I0) DIN 210 92 1
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D2 3 = N"OX NPAN N'OD 1

DWW 14 = '07"X N'PY 1
DM 10 =072 9D 1
DW4 =|07'AN7V 1

DWW 5=N7nN9D 1

(92N 7T M7N) DM 17 -15 =nNIDW D7D 9D 1
DM 70=2x90D 1

D 50 = NIP/DNY NPY 1

(92N 7732 17N) DM 10 - 8 — D'WA DN 9D 1
(92N 7722 17N) D0 DNW DX 54- 50 = D'V DNW NI 2
D2 100 = DIPIP/?VIW N712'W/DATPY/DTIAN DID 1
D2 85 = (7T DAINOD D'TIAN) D'TIAX NPAN DD 1
D72 200 = D'AYNH/TIN NOID 2

D 125 = DN7 D DD 1

DWW 14 = '07"X N'PY 1

2/3



D'Yl’ 0'2'D>1 -NI'ind Z1nn

DX 200 =09'"Y T71PIYW DID 1

3/3



